Multiplying Two Trinomials (A)

Simplify each expression.

(37 — 5tt + T3 (512 + 4t + 5)

(T4 =3 2f + 67 - 6f)

O

W

- (28% — 8% 4+ 55)(—9s* + 5° — 65?)

- (By* +9y° + 8y?) (—4y* + y* — by?)

W

(=823 + 42? — 22)(—62t — 82 — 4a?)

Ot

6. (—8k° — 6k* — 8K*)(k* — 9k + 3)

EN |

(—8p® + 9p + 2)(—4p* — Tp — 4)

8 (=727 — 22 +52°) (22" — 82° — 827)

9. (=5¢* — 8¢ + 6¢%)(2¢* + 3¢° — 8¢°)

10. (=5p° + 8p* — 4p®)(5p° — Tp* + 2p%)

Math-Drills.com




Multiplying Two Trinomials (A) Answers

Simplify each expression.

1 (3t° — 5t* 4+ 7t%)(5t* + 4t +5)
= 15¢t" — 13t% + 30¢° + 3t* + 35¢°

2 (T4 =3f)(2f° +6f* —6f)
= 1417+ 500 — 245 — 42* + 183

3. (28% — 5% + 58)(—984 + 5% — 65%)
= —18s" + 11s% — 58s° + 11s* — 30s®

13yt + 9y + 8y2)(—4y4. +y° - 5y°)
— —12y® — 33y" — 38y° — 37y° — 404"

(—8a% + 42 - 2x)(—62t — 82° — 42?)
= 482" + 402° + 122° + 8x°

(@)

6. (—8k”>—6k" — 8k*)(K* =9k +3)
= —8k" + 66k° + 22K 4 54k* — 24K°

7. (=8p* + 9p + 2)(—4p* — Tp — 4)
= 32p* + 20p° — 39p? — 50p — 8

8. (=72° — 22 +52°) (22" — 82° — 827)
— — 1427 + 5228 + 8227 — 2425 — 402°

9. (=5¢* — 8¢ + 6¢%)(2¢* + 3¢° — 8¢°)
= —10¢° — 31¢" + 28¢° + 82¢° — 48¢*

10, (=5p° + 8p* — 4p*)(5p° — Tp" + 2p%)
— —25p"0 + 75p° — 86p® + 44p” — 8p°
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